

STATE OF ARKANSAS

#### **DIVISION OF BUILDING AUTHORITY**

Department of Finance and Administration 501 Woodlane Street, Suite 101N Little Rock, Arkansas 72201-1833 Phone: (501) 682-1833 Fax: (501) 682-5589 www.aba.arkansas.gov

## MEMORANDUM

- **TO:**Arkansas Legislative CouncilMarty Garrity, Director, Bureau of Legislative Research
- FROM: Anne W. Laidlaw, Director
- **RE:** February 2016 Monthly Report
- **DATE:** March 7, 2016
- Cc: Governor Asa Hutchinson Larry Walther, DFA Director DBA Council Members

Pursuant to Arkansas Code Annotated § 22-2-108 (13), please find enclosed the documents which outline the Division of Building Authority's activities for the month of February. These documents pertain to those duties performed by the Division regarding capital improvements (design review and construction) and leasing transactions. Should you have any questions please do not hesitate to contact me.

# **DFA - DIVISION OF BUILDING AUTHORITY**

# Monthly Report February 2016

### I. Real Estate Services

#### NEW LEASES:

Lease Number	N9313	Start Date	7/1/2015	End Date	6/30/2016
Lessee Name	Gundersen Luthera	n Administrative	Services, Ir	nc., Independe	ently and as Agent
Property Name	Melba Shewmaker	Gundersen Nati	onal Child P	rotection Trair	ni
Address	1202 SE Eagle Wa	y Drive			
City	Bentonville	County N	Vame Bei	nton	
Sq	Ft 216 K	RateSF \$	12.50 A	Innual Rent	\$2,700
Lessor Name	Board of Trustees of	of the Northwest	Arkansa P	Principal N//	4
Comments:	One (1) year Suble Protection Training		nip in the Su	blessee's Nati	onal Child

Lease Number	P3014	Start Date	12/1/2015	End Date	11/30/2016
Lessee Name	UAMS - Northwes	t, Community H	ealth and Re	search Depa	rtment
Property Name					
Address	614 East Emma A	venue			
City	Springdale	County	Name W	ashington	
Sq	Ft 120	RateSF	\$7.40	Annual Rent	\$888
Lessor Name	The Jones Trust,	Northwest Arka	nsas Non-	Principal S	Sally Jones
Comments:	New one (1) year	Lease for small	office space		

NEW LEAS	SES:				
Lease Number	S8458	Start Date	1/1/2016	End Date	9/30/2048
Lessee Name	Department of W	/orkforce Service	S		
Property Name	Magnolia Industr	ial Park			
Address	104 Harvey Coud	ch Boulevard			
City	Magnolia	County	Name Co	lumbia	
Sq	Ft 5,829	RateSF	\$11.00	Annual Rent	\$1
Lessor Name	Southern Arkans	as University Teo	sh 🖌	P <b>rincipal</b> N	/A
Comments:	New thirty-two (3 DWS for shared Magnolia Econor	use of newly con	structed build		

....

*<b>m 10m0</u>* 

	NEWALS:				
Lease Number	N9276	Start Date	6/1/2016	End Date	5/31/2021
Lessee Name	Alltel Communication	ons Wireless,	Inc., d/b/a Ve	rizon Wireless	
Address	Donaghey Avenue				
City	Conway		County Nam	e Faulkner	
Sq	Ft	RateSF		Annual Rent	\$43,659.60
Lessor Name	University of Centra	al Arkansas		Principal N/A	N.
Comments:	Five (5) year auton to increase by ten p				no changes. Rent
Lease Number	N9280	Start Date	1/1/2016	End Date	12/31/2016
Lessee Name	Health Initiatives R	esearch, PLL	С		
Address	1125 North College	e Avenue			
City	Fayetteville		County Nam	e Washingt	on
Sq	<i>Ft</i> 3,455	RateSF	\$11.00	Annual Rent	\$38,004.96
Lessor Name	UAMS - Regional F	Programs - No	orthwest	Principal N//	A
Comments:	One (1) year renew	val of Subleas	e with no cha	nges.	
Lease Number	P2106	Start Date	6/1/2016	End Date	5/31/2018
Lessee Name	Arkansas State Pla	ant Board			
		ant Board			
Address	Arkansas State Pla	ant Board	County Nam	<i>e</i> White	
Address City	Arkansas State Pla 100 Tammy Lane		<i>County Nam</i> \$5.40	e White Annual Rent	\$540.00
Address City Sq	Arkansas State Pla 100 Tammy Lane Beebe	RateSF	\$5.40	Annual Rent	
Address City Sq Lessor Name	Arkansas State Pla 100 Tammy Lane Beebe <i>Ft</i> 100	<i>RateSF</i> ., d/b/a Days	\$5.40 Inn RV Park	Annual Rent Principal Ha	rry Doolabh
Address City Sq Lessor Name Comments:	Arkansas State Pla 100 Tammy Lane Beebe <i>Ft</i> 100 GANA Nayak, LLC	<i>RateSF</i> ., d/b/a Days	\$5.40 Inn RV Park	Annual Rent Principal Ha	rry Doolabh
Address City Sq Lessor Name Comments: Lease Number	Arkansas State Pla 100 Tammy Lane Beebe 7 <i>Ft</i> 100 GANA Nayak, LLC Two (2) year renev	<i>RateSF</i> ., d/b/a Days val with an ap <i>Start Date</i>	\$5.40 Inn RV Park proximate \$7 4/1/2016	Annual Rent Principal Ha 2.00 annual re End Date	nry Doolabh ntal increase.
Address City Sq Lessor Name Comments: Lease Number Lessee Name	Arkansas State Pla 100 Tammy Lane Beebe <i>Ft</i> 100 GANA Nayak, LLC Two (2) year renew P2341	<i>RateSF</i> ., d/b/a Days val with an ap <i>Start Date</i> Center for He	\$5.40 Inn RV Park proximate \$7 4/1/2016	Annual Rent Principal Ha 2.00 annual re End Date	nry Doolabh ntal increase.
Address City Sq Lessor Name Comments: Lease Number Lessee Name	Arkansas State Pla 100 Tammy Lane Beebe <i>Ft</i> 100 GANA Nayak, LLC Two (2) year renew P2341 UAMS - Arkansas	<i>RateSF</i> ., d/b/a Days val with an ap <i>Start Date</i> Center for He	\$5.40 Inn RV Park proximate \$7 4/1/2016	<i>Annual Rent</i> <i>Principal</i> Ha 2.00 annual re <i>End Date</i> ment	nry Doolabh ntal increase.
Address City Sq Lessor Name Comments: Lease Number Lessee Name Address City	Arkansas State Pla 100 Tammy Lane Beebe <i>Fr</i> 100 GANA Nayak, LLC Two (2) year renew P2341 UAMS - Arkansas 1401 West Capitol Little Rock	<i>RateSF</i> ., d/b/a Days val with an ap <i>Start Date</i> Center for He	\$5.40 Inn RV Park proximate \$75 4/1/2016 ealth Improver	Annual Rent Principal Ha 2.00 annual re End Date ment ment	nry Doolabh ntal increase.
Lessor Name Comments: Lease Number Lessee Name Address City	Arkansas State Pla 100 Tammy Lane Beebe <i>Fr</i> 100 GANA Nayak, LLC Two (2) year renew P2341 UAMS - Arkansas 1401 West Capitol Little Rock	<i>RateSF</i> , d/b/a Days val with an ap <i>Start Date</i> Center for He Avenue <i>RateSF</i>	\$5.40 Inn RV Park proximate \$7 4/1/2016 ealth Improver <i>County Nan</i> \$17.96	Annual Rent Principal Ha 2.00 annual re End Date ment ment	arry Doolabh ntal increase. 3/31/2018

N		
Lease Number	P2440 Start D	
Lessee Name	Arkansas Dietetics Licensir	g Board
Address	3542 South First Street	
City	Cabot	County Name Lonoke
Sq	Ft 50 RateS	F \$6.48 Annual Rent \$324.00
Lessor Name	Seneca Enterprises, LLC d	/b/a/ Elf Storage Principal Karen Brockway
Comments:	Two (2) year renewal with r	o changes.
Lease Number	P2458 Start D	ate 5/1/2016 End Date 4/30/2018
Lessee Name	DFA - Revenue Division	
Address	550 Ermen Lane	
City	Osceola	County Name Mississippi
Sq	Ft 1,500 RateS	F \$10.00 Annual Rent \$15,000.00
Lessor Name	Patricia Mahan	Principal Patricia Mahan
Comments:	Two (2) year renewal with	io changes.
Lease Number	P2460 Start L	ate 3/1/2016 End Date 2/28/2018
Lessee Name	DFA - Office of Field Audit	
Address	1501 SE Walton Boulevard	
City	Bentonville	County Name Benton
Sq	Ft 4,790 RateS	F \$12.46 Annual Rent \$59,683.44
Lessor Name	J. Fleeman, LLC	Principal Jeanie Fleeman
Comments:	Two (2) year renewal with	no changes.
Lease Number	P2518 Start L	Date 7/1/2016 End Date 6/30/2018
Lessee Name	Arkansas State Plant Boar	d
Address	609 Southside Street	
City	Lake Village	County Name Pulaski
S	g Ft RateS	F Annual Rent \$300.00
Lessor Name	Bruce Smith	Principal Bruce Smith
Comments:	Two (2) year renewal with	-

Lease Number	P2564 Start Date 7/1/2016 End Date 6/30/2018
Lessee Name	Arkansas State Plant Board
Address	1605 Green Mountain Drive
City	Little Rock County Name Pulaski
-	
Lessor Name	John Conner d/b/a Westside Mini Storage <i>Principal</i> John Conner
Comments:	Two (2) year renewal with no changes.
Lease Number	P2608 Start Date 4/1/2016 End Date 3/31/2018
Lessee Name	DHS - Aging and Adult Services
Address	1322 Bradley Drive
City	Mountain Home County Name Baxter
Sq	g Ft 1,000 RateSF \$7.80 Annual Rent \$7,800.00
Lessor Name	Carley Properties, LLC <i>Principal</i> T. C. Carter
Comments:	Two (2) year renewal with no changes. Lessor to perform minor improvements.
Barrow Company	
Lease Number	P2610 Start Date 2/1/2016 End Date 1/31/2017
Lessee Name	University of Arkansas at Pine Bluff
Address	1333 North Main Street
City	North Little Rock County Name Pulaski
Se	<i>q Ft</i> 5,856 <i>RateSF</i> \$6.95 <i>Annual Rent</i> \$40,699.20
Lessor Name	Nutt Enterprises, Inc. <i>Principal</i> David Nutt, President
Comments:	One (1) year renewal with a two percent (2%) rental increase. Lessee retains
1. A.J., A. M. A.	purchase option at an amount not to exceed \$322,000.00.
Lease Number	P2617 Start Date 5/1/2016 End Date 4/30/2017
Lessee Name	Department of Community Correction
Address	615 South Main Street - Ground Floor
City	Jonesboro County Name Craighead
S	g Ft 1,700 RateSF \$13.20 Annual Rent \$22,440.00
Lessor Name	Sam Dattel Principal Sam Dattel
Comments:	One (1) year renewal with no changes.
comments.	one (1) year renewar with no changes.

	NEW ALC.	
LEASE RE		
Lease Number	P2631 Start Date	4/1/2016 End Date 3/31/2018
Lessee Name	Arkansas State University - Jon	esporo
Address	La succession and	
City	Jonesboro	County Name Craighead
Sq	Ft RateSF	Annual Rent \$1.00
Lessor Name	David Gibson	Principal Danny Gibson
Comments:	Two (2) year renewal for public	advantage Lease of pasture land.
Lease Number	P2649 Start Date	1/1/2016 End Date 12/31/2016
Lessee Name	Arkansas State Military Departr	nent
Address	2050 Hardin Drive	
City	Jacksonville	County Name Pulaski
Sq	Ft 1,500 RateSF	\$16.50 Annual Rent \$24,750.00
Lessor Name	TTRL, LLC	Principal Tommy Lasiter
Comments:	One (1) year renewal with no cl	nanges.
Lease Number Lessee Name Address	P2670Start DateUAMS - Regional Programs - U1215 Sidney Street, Suite 201	1/1/2016 <i>End Date</i> 12/31/2016 JAMS North Central
City	Batesville	County Name Independence
Sq	Ft 3,175 RateSF	\$14.58 Annual Rent \$46,291.56
Lessor Name	White River Health System, Inc	2. Principal Gary Bebow
Comments:	One (1) year renewal with no c	hanges.
Lease Number	P2736 Start Date	2/1/2016 End Date 1/31/2022
Lessee Name	DFA - Division of Building Auth	ority
Address	Capitol Avenue and Izard Stree	et
City	Little Rock	County Name Pulaski
S	q Ft RateSF	\$30.00 Annual Rent \$12,600.00
Lessor Name	Best Park, LLC	Principal Jeff Duncan
		a a construction of the co

LEASE RE	NEWALS:				
Lease Number	P2737	Start Date	3/1/2016	End Date	2/28/2022
Lessee Name	DFA - Division	of Building Autho	rity		
Address	Capitol Avenue	e and Izard Street			
City	Little Rock		County Name	e Pulaski	
Sq	Ft	RateSF	\$30.00	Annual Rent	\$45,720.00
Lessor Name	Best Park, LLC	0	1	Principal Jef	f Duncan
Comments:		newal of surface p g at 900 West Cap		baces) in lot ac	ljacent to state
Lease Number	P2841	Start Date	4/1/2016	End Date	3/31/2018
Lessee Name	UAMS - Arkan	isas Center for He	alth Improvem	nent	
Address	1401 West Ca	pitol Avenue			
City	Little Rock		County Nam	e Pulaski	
Sq	Ft 2	,677 RateSF	\$16.75	Annual Rent	\$44,833.08
					<b>N</b>
Lessor Name	Arkansas Tea	cher Retirement S	System	Principal N//	<b>٦</b>
Lessor Name Comments:  Lease Number	Two (2) year r	enewal with no ch	anges.	Principal N// End Date	
Comments: Lease Number Lessee Name Address	Two (2) year re P2887 University of A 18 Freeway D	enewal with no ch <i>Start Date</i> Arkansas at Fayett	7/1/2016 7/1/2016	<i>End Date</i> n of Agriculture	6/30/2018
Comments: Lease Number Lessee Name Address City	Two (2) year re P2887 University of A 18 Freeway D Little Rock	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive	anges. 7/1/2016 teville - Division <i>County Nam</i>	<i>End Date</i> n of Agriculture	6/30/2018 e - Cooperative E
Comments: Lease Number Lessee Name Address City St	Two (2) year r P2887 University of A 18 Freeway D Little Rock	enewal with no ch <i>Start Date</i> Arkansas at Fayett	anges. 7/1/2016 teville - Division <i>County Nam</i> \$6.88	End Date n of Agriculture ne Pulaski Annual Rent	6/30/2018 e - Cooperative E \$1,375.00
Comments: Lease Number Lessee Name Address City	Two (2) year r P2887 University of A 18 Freeway D Little Rock <i>f Ft</i> U-Storit, Inc.	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive 200 <i>RateSF</i>	anges. 7/1/2016 teville - Division <i>County Nam</i> \$6.88	<i>End Date</i> n of Agriculture ne Pulaski	6/30/2018 e - Cooperative E \$1,375.00
Comments: Lease Number Lessee Name Address City St	Two (2) year r P2887 University of A 18 Freeway D Little Rock <i>f Ft</i> U-Storit, Inc.	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive	anges. 7/1/2016 teville - Division <i>County Nam</i> \$6.88	End Date n of Agriculture ne Pulaski Annual Rent	6/30/2018 e - Cooperative E \$1,375.00
Comments: Lease Number Lessee Name Address City Sq Lessor Name	Two (2) year r P2887 University of A 18 Freeway D Little Rock <i>f Ft</i> U-Storit, Inc.	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive 200 <i>RateSF</i>	anges. 7/1/2016 teville - Division <i>County Nam</i> \$6.88	End Date n of Agriculture ne Pulaski Annual Rent	6/30/2018 e - Cooperative E \$1,375.00
Comments: Lease Number Lessee Name Address City Sq Lessor Name Comments:	Two (2) year re P2887 University of A 18 Freeway D Little Rock <i>f Ft</i> U-Storit, Inc. Two (2) year r	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive 200 <i>RateSF</i> renewal with no ch	7/1/2016 Trianges. 7/1/2016 Teville - Division County Nam \$6.88 hanges. 3/1/2016	End Date n of Agriculture ne Pulaski Annual Rent Principal Bil End Date	6/30/2018 e - Cooperative E \$1,375.00 I Humble 2/28/2017
Comments: Lease Number Lessee Name Address City So Lessor Name Comments: Lease Number	Two (2) year re P2887 University of A 18 Freeway D Little Rock <i>f Ft</i> U-Storit, Inc. Two (2) year r	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive 200 <i>RateSF</i> renewal with no ch <i>Start Date</i> ge of Medicine - E	7/1/2016 Trianges. 7/1/2016 Teville - Division County Nam \$6.88 hanges. 3/1/2016	End Date n of Agriculture ne Pulaski Annual Rent Principal Bil End Date	6/30/2018 e - Cooperative E \$1,375.00 I Humble 2/28/2017
Comments: Lease Number Lessee Name Address City Sq Lessor Name Comments: Lease Number Lessee Name	Two (2) year re P2887 University of A 18 Freeway D Little Rock <i>g Ft</i> U-Storit, Inc. Two (2) year r P2895 UAMS - Colleg	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive 200 <i>RateSF</i> renewal with no ch <i>Start Date</i> ge of Medicine - E	7/1/2016 Trianges. 7/1/2016 Teville - Division County Nam \$6.88 hanges. 3/1/2016	End Date n of Agriculture ne Pulaski Annual Rent Principal Bil End Date Otolaryngolog	6/30/2018 e - Cooperative E \$1,375.00 I Humble 2/28/2017 y
Comments: Lease Number Lessee Name Address City Sq Lessor Name Comments: Lease Number Lessee Name Address City	Two (2) year re P2887 University of A 18 Freeway D Little Rock <i>f Ft</i> U-Storit, Inc. Two (2) year r P2895 UAMS - Colles 1408 West 43	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive 200 <i>RateSF</i> renewal with no ch <i>Start Date</i> ge of Medicine - E	7/1/2016 Treville - Division County Nam \$6.88 nanges. 3/1/2016 Department of	End Date n of Agriculture ne Pulaski Annual Rent Principal Bil End Date Otolaryngolog ne Jeffersor	6/30/2018 e - Cooperative E \$1,375.00 I Humble 2/28/2017 y
Comments: Lease Number Lessee Name Address City Sq Lessor Name Comments: Lease Number Lessee Name Address City	Two (2) year re P2887 University of A 18 Freeway D Little Rock <i>Ft</i> U-Storit, Inc. Two (2) year r P2895 UAMS - Colleg 1408 West 43 Pine Bluff	enewal with no ch <i>Start Date</i> Arkansas at Fayett rive 200 <i>RateSF</i> renewal with no ch <i>Start Date</i> ge of Medicine - D Brd Avenue	7/1/2016 7/1/2016 ceville - Division <i>County Nam</i> \$6.88 hanges. 3/1/2016 Department of <i>County Nam</i> \$48.00	End Date n of Agriculture ne Pulaski Annual Rent Principal Bil End Date Otolaryngolog ne Jeffersor Annual Rent	6/30/2018 e - Cooperative E \$1,375.00 I Humble 2/28/2017 y a f \$12,000.00

LEASE RE	NEWALS:				
Lease Number	P2937	Start Date	7/1/2016	End Date	6/30/2017
Lessee Name	North Arkansas Coll	lege			
Address	683 North Parrott Dr	rive			
City	Huntsville		County Name	Madison	
Sq	<i>Ft</i> 840	RateSF	\$5.71	Annual Rent	\$4,800.00
Lessor Name	Wilma Ledbetter		P	Principal Will	na Ledbetter
Comments:	One (1) year renewa	al with no cha	inges. Lessor	to perform mi	nor improvements.
Lease Number	P2941	Start Date	11/1/2015	End Date	12/31/2016
Lessee Name	UAMS - Regional Pr	rograms - No	rth Central		
Address	1215 Sidney Street,	Suite 202			
City	Batesville		County Name	Independe	nce
Sq	<i>Ft</i> 2,929	RateSF	\$14.58	Annual Rent	\$42,704.82
Lessor Name	White River Health	System, Inc.	ŀ	Principal Ga	y Bebow
Comments:	One (1) year renewa number.	al with a redu	ction in square	e footage and	change in suite
Lease Number	P2983	Start Date	7/1/2016	End Date	6/30/2017
Lessee Name	Arkansas Teacher F	Retirement S	ystem		
Address	2010 South Univers	ity Avenue			
City	Little Rock		County Name	e Pulaski	
Sq	<i>Ft</i> 2,050	RateSF	\$6.76	Annual Rent	\$13,860.00
Lessor Name	Northgate Mini-Stor	age, LLC d/b	/a Too Muc 👔	Principal Mik	e Long
Comments:	One (1) year storag increase, bringing re				nonthly rental
Lease Number	P6210	Start Date	7/1/2016	End Date	6/30/2018
Lessee Name	DFA - Revenue Div	ision		2	
Address	1 Pickeren Street				
City	Salem		County Nam	e Fulton	
Se	<i>Ft</i> 182	RateSF	\$24.73	Annual Rent	\$4,500.00
Lessor Name	Fulton County			Principal N//	4

Lease Number	P9040 Start Date 3/1/2016 End Date 2/28/2018
Lessee Name	DFA - Revenue Division
Address	North Washington Street
City	Forrest City County Name St. Francis
Sq	Ft 2,700 RateSF \$11.90 Annual Rent \$32,124.00
Lessor Name	Fleurland Farms, Consisting of JPH Investm Principal Philip Hicky
Comments:	Two (2) year renewal with no changes.
Lease Number	P9052 Start Date 4/1/2016 End Date 3/31/2018
Lessee Name	DFA - Revenue Division
Address	207 North St. Joseph
City	Morrilton County Name Conway
Sq	Ft 1,380 RateSF \$7.50 Annual Rent \$10,350.00
Lessor Name	Campbell & Company of Morrilton, Inc. Principal Fred Briggler, Jr.
Comments:	Two (2) year renewal with no changes.
BURG SHARE IN CASE OF CASE	
Lease Number	P9351 Start Date 7/1/2016 End Date 6/30/2018
Lease Number Lessee Name	P9351 <i>Start Date</i> 7/1/2016 <i>End Date</i> 6/30/2018 DFA - Revenue Division
Lessee Name	DFA - Revenue Division
Lessee Name Address City	DFA - Revenue Division 218 Main Street
Lessee Name Address City	DFA - Revenue Division 218 Main Street Hampton <i>County Name</i> Calhoun
Lessee Name Address City St	DFA - Revenue Division218 Main StreetHamptonCounty Name <i>County Name</i> Calhoun <i>Ft</i> 2,025 RateSF\$4.15Annual Rent\$8,400.00
Lessee Name Address City Se Lessor Name	DFA - Revenue Division         218 Main Street         Hampton       County Name         Q Ft       2,025 RateSF         \$4.15       Annual Rent         \$8,400.00         Charlotte Ritchie       Principal
Lessee Name Address City Se Lessor Name	DFA - Revenue Division         218 Main Street         Hampton       County Name         Q Ft       2,025 RateSF         \$4.15       Annual Rent         \$8,400.00         Charlotte Ritchie       Principal
Lessee Name Address City Sq Lessor Name Comments:	DFA - Revenue Division218 Main StreetHamptonCounty NameThe strength of the stre
Lessee Name Address City Sq Lessor Name Comments: Lease Number	DFA - Revenue Division218 Main StreetHamptonCounty NameImage: The text of text
Lessee Name Address City Sq Lessor Name Comments: Lease Number Lessee Name	DFA - Revenue Division         218 Main Street         Hampton       County Name <i>q Ft</i> 2,025 RateSF         \$4.15       Annual Rent         \$8,400.00         Charlotte Ritchie         Two (2) year renewal with no changes.         P9407       Start Date         4/1/2016       End Date       3/31/2017         Department of Career Education - Division of Rehabilitation Services
Lessee Name Address City Sq Lessor Name Comments: Lessee Name Lessee Name Address City	DFA - Revenue Division         218 Main Street         Hampton       County Name       Calhoun <i>q</i> Ft       2,025       RateSF       \$4.15       Annual Rent       \$8,400.00         Charlotte Ritchie       Principal       Charlotte Ritchie         Two (2) year renewal with no changes.         P9407       Start Date       4/1/2016       End Date       3/31/2017         Department of Career Education - Division of Rehabilitation Services       2807 Broad Street
Lessee Name Address City Sq Lessor Name Comments: Lessee Name Lessee Name Address City	DFA - Revenue Division         218 Main Street         Hampton       County Name         Pft       2,025         RateSF       \$4.15         Annual Rent       \$8,400.00         Charlotte Ritchie       Principal         Two (2) year renewal with no changes.         P9407       Start Date         4/1/2016       End Date         3/31/2017         Department of Career Education - Division of Rehabilitation Services         2807 Broad Street         Texarkana       County Name

	NEWALS:				
Lease Number	P9452	Start Date	3/1/2016	End Date	2/28/2018
Lessee Name	DHS - County Oper	ations			
Address	800 West Commer	cial Street			
City	Ozark		County Nam	e Franklin	
Sq	<i>Ft</i> 8,000	RateSF	\$7.66	Annual Rent	\$61,280.04
Lessor Name	C. V. Combs			<i>Principal</i> C.√	. Combs
Comments:	Two (2) year renew	al with no cha	anges.		
Lease Number	P9484	Start Date	7/1/2016	End Date	6/30/2018
Lessee Name	DFA - Revenue Div	rision			
Address	25 South 10th Stree	et			
City	Paris		County Nan	e Logan	
Sq	<i>Ft</i> 1,320	RateSF	\$6.63	Annual Rent	\$8,751.60
Lessor Name	HEF, Inc.			Principal Bill	Elsken
Comments:	Two (2) year renew	al with no ch	anges. Lesso	or to perform m	inor improvemen
		and the second secon	and the second	ation and the second	water and the second
Lease Number	P9509	Start Date	014/0040	End Date	0/00/0040
	F 9009	Dian Dute	3/1/2016	Linu Dute	2/28/2018
Lessee Name	DHS - County Oper		3/1/2016	Lnu Duie	2/28/2018
			3/1/2016	Lhu Duie	2/28/2018
Address	DHS - County Oper		3/1/2016 County Nan		2/28/2018
Address City	DHS - County Oper 900 Rogers Street	rations		ne Johnson	\$75,028.56
Address City	DHS - County Oper 900 Rogers Street Clarksville	rations	County Nan	ne Johnson Annual Rent	
Address City Sq	DHS - County Oper 900 Rogers Street Clarksville 7 Ft 8,497	rations RateSF	County Nan \$8.83	ne Johnson Annual Rent	\$75,028.56
Address City Sq Lessor Name	DHS - County Oper 900 Rogers Street Clarksville <i>Ft</i> 8,497 DHS Rentals, LLC	rations RateSF	County Nan \$8.83	ne Johnson Annual Rent	\$75,028.56
Address City Sq Lessor Name Comments:	DHS - County Oper 900 Rogers Street Clarksville <i>f Ft</i> 8,497 DHS Rentals, LLC Two (2) year renew	rations RateSF val with no ch Start Date	<i>County Nan</i> \$8.83 anges. 7/1/2015	ne Johnson Annual Rent Principal De End Date	\$75,028.56 nnis Standridge
Address City Sq Lessor Name Comments: Lease Number	DHS - County Oper 900 Rogers Street Clarksville <i>Ft</i> 8,497 DHS Rentals, LLC Two (2) year renew P9583	rations <i>RateSF</i> val with no ch <i>Start Date</i> Programs - U	<i>County Nan</i> \$8.83 anges. 7/1/2015	ne Johnson Annual Rent Principal De End Date	\$75,028.56 nnis Standridge
Address City Sq Lessor Name Comments: Lease Number Lessee Name	DHS - County Open 900 Rogers Street Clarksville <i>Ft</i> 8,497 DHS Rentals, LLC Two (2) year renew P9583 UAMS - Regional F	rations <i>RateSF</i> val with no ch <i>Start Date</i> Programs - U	<i>County Nan</i> \$8.83 anges. 7/1/2015	ne Johnson Annual Rent Principal De End Date	\$75,028.56 nnis Standridge 6/30/2016
Address City Sq Lessor Name Comments: Lease Number Lessee Name Address City	DHS - County Open 900 Rogers Street Clarksville 7 <i>Ft</i> 8,497 DHS Rentals, LLC Two (2) year renew P9583 UAMS - Regional F 2034 Parkshore Dr	rations <i>RateSF</i> val with no ch <i>Start Date</i> Programs - U, rive	<i>County Nan</i> \$8.83 anges. 7/1/2015 AMS Northwe	ne Johnson Annual Rent Principal De End Date est ne Washingt	\$75,028.56 nnis Standridge 6/30/2016
Address City Sq Lessor Name Comments: Lease Number Lessee Name Address City	DHS - County Open 900 Rogers Street Clarksville <i>Ft</i> 8,497 DHS Rentals, LLC Two (2) year renew P9583 UAMS - Regional F 2034 Parkshore Dr Fayetteville	rations <i>RateSF</i> val with no ch <i>Start Date</i> Programs - U. rive <i>RateSF</i>	<i>County Nan</i> \$8.83 anges. 7/1/2015 AMS Northwe <i>County Nan</i> \$6.82	ne Johnson Annual Rent Principal De End Date est ne Washingt Annual Rent	\$75,028.56 Innis Standridge 6/30/2016

Lease Number	P9599	Start Date	1/1/2016	End Date	12/31/2017
Lessee Name	DHS - County Ope	rations			
Address	606 Pine Street				
City	Mena		County Name	Polk	
Sq	Ft 8,665	RateSF	\$2.68	Annual Rent	\$23,220.96
Lessor Name	Polk County, Arkar	nsas	P	Principal N/A	A
Comments:	Two (2) year renew	val with no ch	anges.		
Martin Martin M	an in an	weit the company states of the	e <u>e serveren staan</u> oo		ana mana Manaka ing panganan kanaka na sa
Lease Number	P9736	Start Date	3/1/2016	End Date	2/28/2018
Lessee Name	DFA - Revenue Di	vision			
Address	705 North Parrott I	Drive			
City	Huntsville		County Name	Madison	
Sq	<i>Ft</i> 1,512	RateSF	\$8.33	Annual Rent	\$12,600.00
Sq Lessor Name	<i>Ft</i> 1,512 Wilma Ledbetter	RateSF	<ul> <li>Project 1989</li> </ul>		\$12,600.00 Ima Ledbetter
			I		
Lessor Name	Wilma Ledbetter		I		
Lessor Name	Wilma Ledbetter Two (2) year renev		I	Principal Wi	
Lessor Name Comments: Lease Number	Wilma Ledbetter Two (2) year renev	wal with no ch Start Date	Anges.	Principal Wi	Ima Ledbetter
Lessor Name Comments: Lease Number	Wilma Ledbetter Two (2) year renew S8344	wal with no ch <i>Start Date</i> vision	Anges.	Principal Wi	Ima Ledbetter
Lessor Name Comments: Lease Number Lessee Name	Wilma Ledbetter Two (2) year renew S8344 DFA - Revenue Di	wal with no ch <i>Start Date</i> vision	Anges.	Principal Wi End Date	Ima Ledbetter
Lessor Name Comments: Lease Number Lessee Name Address City	Wilma Ledbetter Two (2) year renew S8344 DFA - Revenue Di #1 State Police Pla Little Rock	wal with no ch <i>Start Date</i> vision	<i>H</i> anges. 7/1/2016	Principal Wi End Date e Pulaski	Ima Ledbetter
Lessor Name Comments: Lease Number Lessee Name Address City	Wilma Ledbetter Two (2) year renew S8344 DFA - Revenue Di #1 State Police Pla Little Rock	wal with no ch <i>Start Date</i> vision aza Drive 5 <i>RateSF</i>	F anges. 7/1/2016 <i>County Name</i> \$13.24	Principal Wi End Date e Pulaski	Ima Ledbetter 6/30/2018 \$55,672.56
Lessor Name Comments: Lease Number Lessee Name Address City	Wilma Ledbetter Two (2) year renew S8344 DFA - Revenue Di #1 State Police Pla Little Rock	wal with no ch <i>Start Date</i> vision aza Drive 5 <i>RateSF</i> blice	F anges. 7/1/2016 <i>County Name</i> \$13.24	Principal Wi End Date e Pulaski Annual Rent	Ima Ledbetter 6/30/2018 \$55,672.56

LEASE CHA	NGES:				
Lease Number	P2810	Start Date	2/9/2016	End Date	1/31/2022
Lessee Name	DFA - Division of Building Authority				
Address	421 Main Street				
City	Little Rock		County Name	Pulaski	
	Sq Ft	44230	RateSF	\$17.08	
Lessor Name	Little Rock Technolo	ogy Park Aut	thority Pr	<i>incipal</i> N/A	
Comments:	Amended Lease to Rock Tech Park Au	and the second se	ge in ownership	with purchase	by the Little
Lease Number	P2836	Start Date	10/1/2014	End Date	6/30/2018
Lease Number Lessee Name	P2836 Arkansas Departme			2.00 2 000	6/30/2018
		ent of Enviro		2.00 2 000	6/30/2018
Lessee Name	Arkansas Departme	ent of Enviro		2.00 2 000	6/30/2018
Lessee Name Address	Arkansas Departme	ent of Enviro Street	nmental Quality		6/30/2018
Lessee Name Address	Arkansas Departme 2510 North Hervey Hope	ent of Enviro Street 1456	nmental Quality County Name RateSF	Hempstead \$13.10	6/30/2018 Fenton
Lessee Name Address City	Arkansas Departme 2510 North Hervey Hope Sq Ft	ent of Enviro Street 1456 -C	nmental Quality County Name RateSF Pr	Hempstead \$13.10 • <i>incipal</i> Elvin	

#### LEASE CANCELLATIONS:

Lease Number	P2536		
Lessee Name	Arkansas Department of Workforce Services		
Address	203 North Frederick		
City	Magnolia	County Name	Columbia
Lessor Name	University Plaza Shopping Cen	nter Partnership	
Comments:	Lease to expire upon expiration date of January 31, 2016. Lease had been month-to-month since April 1, 2014.		
Lease Number	S8357		a a <sup>19</sup> Mayo Ngagaganana ka <sup>19</sup> Ma <sub>n</sub> aganana ka ka
Lease Number Lessee Name	S8357 Arkansas Highway and Transp	oortation Departm	nent
		ortation Departm	nent
Lessee Name	Arkansas Highway and Transp	oortation Departm County Name	nent Desha
Lessee Name Address	Arkansas Highway and Transp 603 Highway 65 North		

# **II.** Construction Section

# **Contracts:**

.

Current Projects under Contract:	100	
Value of Current Projects:	\$	115,393,240.44
New Contracts: (See attached New Contract report) Value of New Contracts:	7 \$	2,446,666.49
Change Orders approved: (See attached Change Order report) Change Order Increase:	18 \$	273,800.51
Change Order Decrease:	-\$	152,735.62
Projects Completed:	13	
Value of Completed Projects	: \$	3,612,603.53
<b>Bid Process and Openings:</b>		
Projects in the Bid Process	36	
Bid Openings: (See attached Bid Opening Report)	11	
Emergency Bid:	1	
Rebid Projects:	3	
Projects Within Budget:	11	
Project Over Budget	0	
<b>Project Observations:</b>		

Field Inspections Conducted:	73
Final Inspections Conducted	13

New Contracts			
Agency Name Project Numbe Date Approve	0	Contract Amount	
<b>Arkansas Bo:</b> 2361601 2 /29/2016	ard of Licensure for Pro Eng. And Surveyors Exterior Repairs at Board of Licensure for Pro. En Smith Associates Architects, P.A. Baldwin & Shell Construction Company	\$112,786.00	
<b>Arkansas De</b> 9001602 2 /1 /2016	partment of Parks and Tourism Employee Residences @ Crowley's Ridge State Park Stuck Associates Architects Construction Network, Inc.	\$680,236.00	
9001604 2 /1 /2016	Re-Roof & Lightning Protection @ Mt. Magazine SP Taylor-Kempkes Architects Pick-It Construction Inc.	\$523,300.00	
9001607 2 /23/2016	Campground Renovation at Davidsonville Historic SP McClelland Consulting Engineers,Inc. Noacon, Inc.	\$612,279.99	
9001608 2 /4 /2016	Walk-In Campsites at Withrow Springs State Park Department of Parks & Tourism, In-House Cove Creek Construction, Inc	\$304,776.50	
9001612 2 /17/2016	New Equipment Shed @ Withrow Springs State Park Department of Parks & Tourism, In-House L.E. Davis Construction, Inc.	\$165,000.00	
<b>Department</b> 7101604 2 /8 /2016	of Human Services Redundant Chilled & Domestic Hot Water Pumps @ A Lockeby & Associates, Inc. Comfort Systems USA (Arkansas), Inc.	A \$48,288.00	

		Change Order S	ummary		
		as Building Authority	TME, Inc.		
		fficiency Project Ph. 2,AHU-1 Sy			
		Contractors, Inc.			-
Date		Change Order Reason	Amount Increase	Amount Decrease	Days
2 /25/2016	1	Owner Requested	\$7,922.00	\$0.00	0
2 /25/2016	2	Unforeseen Condition	\$3,030.00	\$0.00	0
5161501	Arkans	as Educational Television Network	Pettit & Pettit	Consulting Engineers	Inc.
AETN Acces	ss Contro	ol Project			
Advanced Ca	abling Sy	vstems, LLC			
Date	<i>C/O</i> #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /29/2016	1	Owner Requested	\$2,413.00	\$0.00	0
6931601	Pulaski	Technical College	Cromwell Arc	hitects Engineers	
Welding Sho	op Ventil	ation at Pulaski Tech. College		-	
General Mec	hanical (	Contractors, Inc.			
Date	<i>C/O</i> #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /24/2016	1	Owner Requested	\$5,069.00	\$0.00	0
2 /24/2016	1	Time Extension	\$0.00	\$0.00	38
7101511	Departi	ment of Human Services	Lockeby & As	ssociates, Inc.	
Recycling B	Building a	at Jonesboro HDC			
Tate General	l Contrac	ctors, Inc.			
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /12/2016	3	Owner Requested	\$7,550.00	\$0.00	0
2 /12/2016	3	Unforeseen Condition	\$0.00	(\$8,694.00)	0
2 /12/2016	3	Time Extension	\$0.00	\$0.00	17
7101515	Depart	ment of Human Services	Lockeby & A	ssociates, Inc.	
Sewer Line	Repairs a	at Booneville HDC			
Crow Paving	g, Inc.				
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /9 /2016	2	Unforeseen Condition	\$5,500.46	\$0.00	0
8851501	Depart	ment of Arkansas Heritage - Historic AF	Museum Allison Archi	tects	
Roof at Log	House &	z Fence Replace, Historic AR			
V.R. Smith	& Sons,	Inc.			
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2/18/2016	3	Time Extension	\$0.00	\$0.00	262

2/18/2016	3	Owner Requested	\$58,964.00	\$0.00	0
9001211 Queen Wilh Wade Aberr	elmina L	<b>as Department of Parks and Tourism</b> odge Renovations	Borne Firm An	chitects, P.A.	
Date		Change Order Reason	Amount Increase	Amount Decrease	Days
2 /2 /2016	11	Owner Requested	\$0.00	(\$13,700.00)	0
9001511 Campgroun Goslee Con	d D Reno	<b>as Department of Parks and Tourism</b> vation at Lake Ouachita Corp.	McClelland C	onsulting Engineers,In	IC.
Date	<i>C/O</i> #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /29/2016	1	Item Not Shown Or Specified	\$5,023.15	\$0.00	0
2 /29/2016	1	Time Extension	\$0.00	\$0.00	55
9001515 Exterior Im E.W.I., Inc		as Department of Parks and Tourism ts to Lodge Ph.1 @ Mt. Magazine	Taylor-Kempl	xes Architects	
Date		Change Order Reason	Amount Increase	Amount Decrease	Days
2 /9 /2016	2	Time Extension	\$0.00	\$0.00	46
2 /9 /2016	2	Unforeseen Condition	\$47,479.00	\$0.00	0
<b>9301303</b> Corrective A Kolb Gradin	Action- Fo	as Department of Environmental Quality ormer C&L Landfill - Phase II	EnSafe, Inc.		
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /18/2016	6	Time Extension	\$0.00	\$0.00	23
	N Aband	<b>as Department of Environmental Quality</b> oned Mine Site Drum Removal ntal Management & Specialties	FTN Associat	es, Ldt.	
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /18/2016	2	Owner Requested	\$0.00	(\$130,341.62)	0
	dary Fenc	<b>y Department of Arkansas</b> e Phase 5, Camp Robinson Company, Inc.	Marlar Engine	eering Company, Inc.	
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2/15/2016	1	Time Extension	\$0.00	\$0.00	175

9751423	751423 Military Department of Arkansas Ma		Marlar Engine	Marlar Engineering Company, Inc.	
Southwest B	Boundary	Fence Ph. 6, Camp Robinson			
Arkansas Fe	nce & G	uard Rail d/b/a GGRT, LLC			
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /25/2016	1	Time Extension	\$0.00	\$0.00	175
9751508	Militar	y Department of Arkansas	Lewis Archite	cts Engineers, Inc.	
DCSEN Stat	tewide E	MCS Upgrade			
Alliance Tec	chnologie	es, Inc. & Divisions			
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /1 /2016	2	Owner Requested	\$75,845.93	\$0.00	0
2 /1 /2016	2	Time Extension	\$0.00	\$0.00	60
9751527	Militar	y Department of Arkansas	Hawkins-Weir		
CMTC 1st A	Ave. Con	crete Crossing			
Crawford Co	onstructio	on Company			
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /8 /2016	1	Unforeseen Condition	\$23,367.00	\$0.00	0
2 /8 /2016	1	Time Extension	\$0.00	\$0.00	30
9751603	Militar	y Department of Arkansas	Lewis Archite	cts Engineers, Inc.	
PEC Lexing	ton Hall	Remodel Bldg 3401@Camp Robinson			
D & H Cons	struction	Company			
Date	C/O #	Change Order Reason	Amount Increase	Amount Decrease	Days
2 /26/2016	2	Owner Requested	\$19,331.00	\$0.00	0
2 /26/2016	2	Time Extension	\$0.00	\$0.00	7
9751606	Militar	y Department of Arkansas	Architecture F	lus, Inc.	
CMTC Build	ding 255	3 & 2535 Renovations			
Turn Key Co	onstructi	on Management, Inc,			
Date	C/O #	‡ Change Order Reason	Amount Increase	Amount Decrease	Days
2 /25/2016	2	Time Extension	\$0.00	\$0.00	56
2 /25/2016	2	Owner Requested	\$12,305.97	\$0.00	0
the second se					

<b>Bid Openings</b>	
Project Number / NameAgency NameBid DateDesign Professional Name	Certified Funds Bid Amount
Bid Time Apparent Low Bidder Name	Method of Contracting
3901501RLF Arkansas Workers' Compensation Commission	\$487,000.00
HVAC Equipment Replacement	\$0.00
2 /17/2016 Energy Engineering Consultants	Design / Bid / Build
2:00:00 PM No Responsive Bid	
5101601 School for the Blind	\$144,350.00
Administration Building Chiller Replacement	\$113,798.00
2 /2 /2016 Pettit & Pettit Consulting Engineers, Inc.	Emergency
3:00:00 PM Comfort Systems USA (Arkansas), Inc.	
6301601 Dept. of Finance & Administration - Revenue Service Div.	\$200,000.00
Ledbetter Window Replacement Phase I	\$164,167.00
2 /17/2016 Lockeby & Associates, Inc.	Design / Bid / Build
2:30:00 PM Staley Glass Company, Inc.	C
7101602 Department of Human Services	\$160,000.00
ASH Egress Sidewalks	\$114,700.00
2 /17/2016 Lockeby & Associates, Inc.	Design / Bid / Build
3:00:00 PM Shields & Associates, Inc.	
7101608 Department of Human Services	\$35,235.00
Re-Roof Various Buildings @ Colt JTC	\$29,950.00
2/18/2016 Morris and Associates Architects, Environmental Consultants	Design / Bid / Build
2:00:00 PM Crawford Builders, Inc.	
8101601 Arkansas Dept. of Workforce Services	\$109,358.90
Replacement of Boilers at Two Capitol Mall	\$106,170.80
2/18/2016 Pettit & Pettit Consulting Engineers, Inc.	Design / Bid / Build
3:00:00 PM Powers of Arkansas, Inc.	0
9001605 Arkansas Department of Parks and Tourism	\$178,578.00
Marina Fueling Station Improve @ Lake Catherine SP	\$173,713.00
2/23/2016 Pollution Management, Inc.	Design / Bid / Build
2:30:00 PM The Southern Company of North Little Rock, Inc.	5
9001611 Arkansas Department of Parks and Tourism	\$151,841.00
Improvements to the Nature Cabin @ Lake Catherine	\$167,496.00
2 /2 /2016 Taylor-Kempkes Architects	Design / Bid / Build
2:00:00 PM 3-W Construction, Inc.	Design, Dia, Duna
9001616 Arkansas Department of Parks and Tourism	\$655,313.00
DeRoche Ridge Day-Use Area Renovation @ DeGray	\$508,397.00
2 /3 /2016 McClelland Consulting Engineers, Inc.	Design / Bid / Build
2:00:00 PM Seale's Construction Co., Inc.	Dongar Diar Duna

Project Nun	nber / Name Agency Name	Certified Funds
<b>Bid Date</b>	Design Professional Name	<b>Bid Amount</b>
<b>Bid Time</b>	Apparent Low Bidder Name	Method of Contracting
9001618	Arkansas Department of Parks and Tourism	\$49,000.00
Swimming P	ool & Hot Tub Resurfacing @ DeGray Lake	\$22,250.00
2 /3 /2016	Department of Parks & Tourism, In-House	Design / Bid / Build
2:30:00 PM	Mid-America Pool Renovations, Inc.	
9751608	Military Department of Arkansas	\$76,822.00
PEC Buildin	g 1403 Trenton Hall Renovation	\$68,900.00
2 /2 /2016	Stocks-Mann Architects, PLC	Design / Bid / Build
2:30:00 PM	Brister Construction, Inc.	

esign Review Section	Plan Reviews	
DBA Plan Review File #	Agency Name	Project Type
Project Title	Project Location	<b>Review Type</b>
Date Received	Date Completed	Current Status
<b>Current Estimated Construction Cost</b>	Building Area (sq ft)	<b>Cost Per Square Foo</b>
Design Firm Name	Floodplain Permit Required	Date Permit Approve
3501501	DFA/Division of Building Authority	Public Bid
Justice Building Alterations 2014	Little Rock, AR	Plan Review Submitta
10/27/2015	2/25/2016	Waiting for Responses
\$193,455.00	1,880	\$ 102.90
Cromwell Architects Engineers	No	NA
3901501RLF	Worker's Compensation Commission	Public Bid
HVAC Equipment Replacement	Little Rock, AR	Re-bid
2/23/2016	2/23/2016	Closed
\$450,000.00	20,000	\$ 22.50
Energy Engineering Consultants	No	NA
4151601	Forestry Commission	Public Bid
Baucum Pine Packing	North Little Rock, AR	Approval to Bid
2/24/2016	Norm Lime Rock, AR	Open for Review
\$180,000.00	3,600	\$ 50.00
Lockeby & Associates, Inc.	No	\$ 50.00 NA
Lockeby & Associates, Inc.	110	
4801604	Department of Correction	In House Labor
Main Barracks 1 Wood Utility Chase	Tucker, AR	Plan Review Submitte
2/29/2016		Open for Review
\$48,000.00	2,490	\$ 18.07
In-House DOC		
5521602	Northwest Technical Institute	Public Bid
NTI Parking Lot Redesign	Springdale, AR	Approval to Bid
2/29/2016	-p	Open for Review
\$145,391.17	54,571	\$ 2.66
Earthplan Design Alternatives, PA	No	NA
6151605	DEA/Division of Duilding Authority	Dublic Did
6151605 Rnovations to 3rd Floor Center and	DFA/Division of Building Authority	Public Bid
	Little Rock, AR	Approval to Bid
2/19/2016	2/19/2016	Closed
\$920,000.00	12,000	\$ 76.767
ABA In-House	No	NA
6931603	Pulaski Technical College	Public Bid
Building D HVAC Lab	North Little Rock, AR	Plan Review Submitt
2/23/2016		Open for Review
	NA	NA
Cromwell Architects Engineers	Department of Human Services	Public Bid
Cromwell Architects Engineers 7101516	Department of Human Services Mansfield, AR	Public Bid Re-bid
Sanitary Sewer Collection Center Rehab	Mansfield, AR	Re-bid
Cromwell Architects Engineers 7101516		

DBA Plan Review File # Project Title Date Received Current Estimated Construction Cost Design Firm Name	Agency Name Project Location Date Completed Building Area (sq ft) Floodplain Permit Required	Project Type Review Type Current Status Cost Per Square Foot Date Permit Approved
7101609 ASH Morrison Canteen Renovation 2/10/2016 \$107,000.00	Department of Human Services Little Rock, AR 1,756	Public Bid Plan Review Submittal Open for Review \$ 61.00
Lockeby & Associates, Inc. 7101611 Re-Roof Bldg 42 and Kitchen-Storage 2/18/2016 \$133,215.00 Morris & Associates	Department of Human Services Conway HDC 13,750 No	Public Bid Plan Review Submittal Open for Review \$ 9.69 NA
8751601 2015 Improvements to Museum and 2/18/2016 \$200,000.00 Jameson Architects, PA	Department of Heritage-Old State House Little Rock, AR 10,000 No	Public Bid Plan Review Submittal Open for Review \$ 20.00 NA
9001613 New Equipment Shed 2/4/2016 \$137,900.00 Parks and Tourism In-House	Parks & Tourism Historic Washington State Park 2/9/2016 2,000 No	Public Bid Re-bid Closed \$ 68.95 NA
9001620 Waterline and Water Hydrant 2/25/2016 \$51,693.40 Parks and Tourism In-House	Parks & Tourism Crowley's Ridge State Park NA No	Public Bid Approval to Bid Open for Review NA NA
9001621 Phase III, Arkansas City Trailhead 2/25/2016 \$622,613.25 ETI Corporation	Parks & Tourism Delta Heritage Trail State Park NA	Public Bid Plan Review Submittal Open for Review NA
9301603 Scott Branch Bioreactor Project 1/20/2016 \$126,182.00 ADEQ In-house	Department of Environmental Quality Bates, AR 2/4/2016 NA No	Public Bid Approval to Bid Upgraded Closed NA NA
9751613 CMTC Bridge 21 Repair 1/5/2016 \$244,000.00 Hawkins Weir	Military Department Fort Chaffee, AR 2/4/2016 NA Yes	Public Bid Plan Review Submittal Waiting for Responses NA Pending

# Public School Accessibility Reviews February 2016

Project #	Project Review Type	Date Received	Date Completed	School District Current
5001625	Preschool PE Building Plan Review Submittal	1/26/2016	2/23/2016	Two Rivers School District Waiting for Responses
5001626	Melbourne Elementary S Approval to Proceed	Storage Building 1/28/2016	2/4/2016	Melbourne School District Closed
5001627	Concession Building Approval to Bid	2/1/2016	2/9/2016	Hackett School District Closed
5001628	Bus Shop Plan Review Submittal	2/4/2016	2/29/2016	Pangburn School District Waiting for Responses
5001629	Bus Garage Plan Review Submittal	2/2/2016	2/17/2016	Greers Ferry School District Waiting for Responses
5001630	K-4 & 5-5 Elementary S Plan Review Submittal	School 2/4/2016		Bentonville School District Open for Review
5001631	Agri Storage Building Approval to Proceed	2/9/2016	2/10/2016	Hillcrest School District Closed
5001632	High School New Agri Plan Review Submittal	Building 2/11/2016	2/25/2016	Prescott School District Waiting for Responses
5001633	New Bragg Elementary Approval to Proceed	School 2/17/2016	2/24/2016	West Memphis School District Closed
5001634	Family and Consumer Science BuildingPlan Review Submittal2/19/20162/25/2016			Nemo Vista School District Waiting for Responses
5001636	New School Administra Plan Review Submittal	tion Building 2/26/2016		Pottsville School District Open for Review